4, Prove that ABCD is a parallelogram.
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1 Write the equation of the line.
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In #s 2 & 3, Write the equation of the line with the given description.
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3. Perpendicular to 3x + 4y = 8 passing through (-3, 5)
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Determine if AUGA is scalene, isosceles, or equilateral. o ”§'”' A &D «5
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What are possible coordinates of the 3™

6. Two corners of an equilateral A live at (0,5) and (0, -1).
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7. What's the perimeter and area of the rectangle PQRS?

P(0, -6) Q(8, 2) R(4, 6) S(-4, -2)

px 232 +22[ 129
~x 33.9

A= 32 x (g
= él(

A '3{“(‘1 (o ™ ‘4S
IE
ok (3f3,2) of (-3J% 13
el
um D
S ERRRERN). A1\
i § ‘( 76 8 1
48 s
éa 2 -

A?@ J(?\ + (%’3 -
Tt 6

z e

m Y +(\“"“

qfwz
V‘”i‘?;‘{\(

Y
o a—

- \X\(, 46
-~ {32
8. Graph AABC. Find the midpoints of segments AB and BC. Connect those midpoints with the
midsegment. Verify that the midsegment is half the length of segment AC and half as long.
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9. Given segment AB at A(5, 2) and B(9, -4), what point partitions the segment into a 4:1 ratio?
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10. NCOBisa parallelogra;‘l. Given N(-4, 0) C(3,7), and O(6, 4), what are the coordinates for B?
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11 Show that NCOB from #10 is a rectangle, rhombus, square, or just a parallelogram.
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Determine if the statements in 18-21 are sometimes, always, or never true.

18. The diagonals of a parallelogram are congruent. S
19. A rhombus is a parallelogram. A
20. A rhombus is a rectangle.
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21. The consecutive angles of a parallelogram sum to 180°.
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22. KLNM is a rectangle. Find the perimeter of KLNM.
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23. Find x in the parallelogram at right. x—1 5x + 28
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24. The rhombus below has a perfihﬁ"émt'éf of 28cm. Find x.
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